
Milestone AV Technologies, and its affiliated corporations and subsidiaries (collectively, "Milestone"), intend to make this manual accurate and complete. However, Milestone makes
no claim that the information contained herein covers all details, conditions or variations, nor does it provide for every possible contingency in connection with the installation or use
of this product. The information contained in this document is subject to change without notice or obligation of any kind. Milestone makes no representation of warranty, expressed or
implied, regarding the information contained herein. Milestone assumes no responsibility for accuracy, completeness or sufficiency of the information contained in this document.

Chief, a products division of Milestone AV Technologies
6436 City West Parkway, Eden Prairie, MN 55344

• P: 800.582.6480 / 952.225.6000   • F:877.894.6918 / 952.894.6918

8800-002700 Rev00
©2015 Milestone AV Technologies

01/15

I N S T A L L AT I O N  I N S T R U C T I O N S
FSK-B Finishing Kit

The FSK-B finishing kit is designed for use with Chief® Rack products. See the specific installation instructions provided with the rack for
additional installation information.

REQUIRED TOOLS / PARTS INCLUDED

INSTALLATION
1. Decide location of FSK finishing strip.

2. Cut finishing strip to length, as necessary.

3. Remove equipment rack screws from chosen locations. (See
Figure 1)

Figure 1

4. Remove captive washers from #10-32 x 3/4" Phillips screws (A).
(See Figure 2)

5. Install retention washers (D) onto #10-32 x 3/4" Phillips screws
(A). (See Figure 2)

6. Install screws with retention washers into locations where
screws were removed in Step 3.

Figure 2

7. Install end caps (C) into each end of the FSK finishing strip (B).
(See Figure 3)

8. Position finishing strip over screws with retention washers and
snap finishing strip into place over washers. (See Figure 3)

Figure 3

       A (8)
#10-32 x 3/4"

             B (1)
[FSK finishing strip -

    C (4)
[End cap]

           D (8)

    78-3/4" length]

[Retention washer]

3

(A)

Captive washer

4

5

(D)

7

(C)

(B)

8


